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Note 1) All questions are compulsory.
Marks allotted to each f‘_met:ﬂ'ﬁﬁ/
are given in the margin.
1) In numerical questions, give all
the steps of calculation.
1)) Give relevant answers to the
questions.
v}  Give chemical equations
wherever necessary.
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1) 16 amu

11) 16 om
6-022 x1022 ©

32

111) gm

6-022 x 1023
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1)  SiO, ii) CO

) HCIO 4 < HCIO 5 < HEIO 5 < HCIO

11) HCIO<HCIO,<HCIO3<HCIO,4

iii) HCIO <HCIO 4, < HCIO 5 < HCIO,,

iv)] HCIO, < HCIO ,< HCIO 5 < HCIO.
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1 — n) 2v

) 2 )

m) 6V iv) 4V 1
1. Four alternatives are given in each part

of this question. Select the correct
alternative and write 1t 1In your answer-
book :

a) Rate of diffusion will be highest for

i) NHj i) CH,

69620 | Turn over

https://www.upboardonline.com



374(JA) 6

b) The weight of one atom of oxygen

will be

1) 16 amu

11) 16 gm
6-022 x102%3

111) 32 gm
6-022 x1023

1v) !
6-022 x1023°

c) Iron is reduced in blast furnace by

i) SiO,
iij CO
iii) C

iv) Na,O
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d) The set with correct order of

acidity is

i) HCIO,4 < HCIO 53 < HCIO,< HCIO

ii) HClO<HCIO,<HClIO 3 <HCIO4

iii) HC1O < HC1O 4 < HC1O 53 < HC1O ,
iv) HCIO 4 < HCIO, < HCIO 3 < HCIO.

1

e) For a definite weight of anv gas 1if

pressure 1s reduced to hali and
temperature 1s doubled, the volume

of the gas will be

: %
1) —
4
ii) 2v?2
1) o6V
iv) 4V. 1
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Write down two important uses of
heavy water. 1
Lithium shows diagonal relation in
some of its properties with
magnesium. Explain with reasons. 1
Explain Kohlrausch’s lav;r. 1
Explain law of multiple proporlion

by an example. 1
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Write down two oxidising properties
of hydrogen peroxide and give
chemical equations for oxidation
reaction. https:.-"'.-"u-'ww.;_lphoardnnlinc.Com 1
Calculate the oxidation number of

chromium ( Cr ) blue perchromate.

1
Arrange, O, S, F, Cl, N 1n order of
increasing strength of hydrogen

bonding ( X .... H- X). 1
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d) Write names and formulae of two
main ores of copper. 1

4. &) T=cGTEd 9 F e.m.f, Fewifeiu | g8 o
JaRy {6 HHE-E ToiEee 49 Y@ 3R
FH-G KU YT ¢ A H g el 37d-

AMfHaTE 3R qoi-erfuhman fafeu

Ni [ Ni"7(0-1M) || Ag*[O-lM)lAg.
EC Ni"" | Ni=-025V 3R

ECAg” | Ag=+0-80 V. 2

@) PClgs | /T sp°d HHOT &
HHATRY | 2

) i) gUe 1 W IR0 FRT qHART |

ii) SHITFGH (Cr) ST URAT] HHIEH 24 |
Cr3 &l IARI-6 a9 s, p, d
AR 4 fafEu | 1+1
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HegHuzed (Mesosphere) ©T ATFAHIEA

(lonosphere) H @9 Aleal  ITHEH=

Hhafsram fafau 2

Calculate the e.m.f. of the given cell.
Explain which of the electrodes is a
positive pole and which is a negatve
pole. Write down half and full

electrode reactions :

Ni | Ni""(0-1M) || Ag~(0-1 M) | Ag
E® Ni*"| Ni =-0-25V and

E%AgT | Ag =+ 0-80 V. 2
Explain sp Sd hybridization taking

example of PClg. 2

1) Explain Hund’s rule with an

example.
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i1) The atomic number of
chromium (Cr) 1s 24. Write
down electronic  configuration

of Cr¥in s, p, d, f. 1 +1
d) Write down the chemical reactions
which occur in Mesosphere and

lonosphere. 2
5. %) woOHARE §R IR 99 &t fafy e
TEaHE Ahsear fefEw 2
=) FEiEEr I Fmer d ex fafy @ fagre
HFHHARU | 2
™ = IumgdgsE @A % [UPAC Tm
S 1, 1.1.1
T 3t 3%3%3
i) [Ag(NH;),]cl
ii) [ Fe(H,0)s |Cl,
i) Ko Hgly )
iv) [Cu(NH; ), ]so,.
) i) IR W HKOUNHE AV F THE
T T AT & 2
i) A a9 S GHHRET | 1+1
69620

https://www.upboardonline.com



Ul
2

b)

d)

69620

1‘3

3 374 (JA)

Write down the method of

preparation s of borax from
colemanite giving chemical
equations. 2

Write down the principles involved
In the manufacture of ammonia gas

by Haber’s process. 2
Write down the IUPAC names of the

following coordination compounds :

]

- - -
< A Z 2

) |Ag(NH3), |C

ii) | Fe(H,0) |Cl,

1) K[ Hgl,]

iv) [Cu(NH,), |S0O,.

1) Why is electron considered to
be the unit of negative charge ?

11) Explain ionisation potential.

1 +1
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i) ETETR SeeENe ®Y T fRar seraea-d

i) e @ dilegd gRgaEss 9 fhar s

STET & 2 1
How is sodium hydroxide manufactured
industrially by Nelson cell process ?
Describe it with the help of labelled
diagram. Write down its reaction with
white or yellow phosphorus. Give related

chemical equation. 3

OR
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What happens when — ( Give chemical
equation only )

1)

ii)
iii)
7. i)

ii)

ii)

iii)

69620

cold and dilute NaOH reacts with

chlorine ? 1
sodium bicarbonate is heated ? 1
Zn i1s allowed to react with NaOH 7 1

f - Aol T [FeEAT I

W Al 9 AT &= -u....-_i'..:- ?.: / ECE

f’ji’fsiﬁiw Shi 3otdid =Rl 70 1 + 2
::‘T;—-i:-d‘

AT E ?

- -

T«w< 41$§¢ F [Tos= © Rie=h= =6
fehdT AT & 2

™ - -

RIS TS [Foad H &ad FHR3S

faegs e sar & 2 1+ 1+ 1
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7. 1) Write down the characteristics of
f-block clements.

ii) What do you understand by
transition clements ? Enumerate its
characteristic properties. 1 + 2

OR

What happens when ( Give chemical

cquation only ) —

1) NH,OH is added to CuSOq4

solution ?

=X

11) | PHéli’?s passed '%-'"through -~ AgNOg
sblution ?
iii) SnCl, solution is added to Mercuric

chloride solution ? 1+1+1
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